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1 NTo [£3] 3NT -1 -50 [£3] 3NT -1 -50
2 2] ¢ [£3] 4S -1 -100 [£3] 3NT = 600 12
3 panyiic] x 4H -1 100 x 3NT -1 100
4 =] 1t 3Sx = 730 x 3NTX -2 500 6
5 2] ¢ 1t 2H -3 -300 [ri] 2NT = -120
6 panyiic] 1t INT -1 -50 5| 3D = 110 4
7 =] Jri] 5Cx -2 500 [ri] 5Cx -2 500
8 NTo x 3NT -2 100 x 3NT -2 100
9 panyiic] x 4H +1 -650 [ri] 4S +1 -650
10 | B 1t 3NT -1 -100 5| 3SNT +1 630 12
11 | XN 1t INT +2 150 x 2HXx -2 300 4
12 | @it [£3] 3NT = 600 [£3] 3NT = 600
DATUMEit B 5
[E3R3pa) RLES Y. 5+ 6 37
BRREL /e ERE B 58 TR Aait 6 37
SRFBAE/ =T MBI/ EEE V.P. 2.92 | 17.08




20156F “REEIIN" BFE

% 85 %25 2015%3H8H
14 ISR VS 4 [TNEE
H= A=
e ES HEs ez
— % e Tt e P —
= - B 7 S & S 7 - =
x| mn| ER | m |en | me | B | w2 | a8 | wee| 20|
1 NTo Jris] 3C -2 100 [£3] 1H +3 170 2
2 2] ¢ x 3SNT +1 -430 x 3SNT +2 -460 1
3 panyiic] x 4S -3 300 [ri] 2NT = -120 9
4 =] 1t 3NT -2 -200 5| 3NT -2 -200
5 2] ¢ [£3] 3SNT +2 660 5| ANT +1 660
6 panyiic] 1t 3SNT +3 490 5| 3SNT +1 430 2
7 =] Jri] 2Dx -2 500 it 3NT -2 -200 12
8 NTo Jris] 2NT +2 -180 x INT +1 -120 2
9 panyiic] 1t 4D -1 -50 [£3] 4D -1 -50
10 | B [£3] INT +1 120 x 2D = -90 5
11 | XN [£3] 2H = 110 [£3] 3H = 140 1
12 | @it Jri] 3SNT +1 -430 [ri] 3SNT +1 -430
DATUM& it L
ISR I MHEi%E Y. 4+ 29 5
FhELT /1T RN, RITE/RTR ait 29 5
REFETEZZ=TN HEE/SHE V.P. 16.37 | 3.63
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1 NTo x 4S 1 50 [£3] 5Cx -2 -300 8
2 2] ¢ 1t 2H -1 -100 1t 2H +1 140 6
3 panyiic] [£3] INT = 90 [ri] 3H -1 100
4 |\ db 5C = 600 it 5C = 600
5 2] ¢ x 3NT = -400 [ri] 3NT -1 50 10
6 panyiic] 1t 3C -1 -50 [ri] 3D +3 -170 3
7 =] 1t 2H = 110 [ri] 3C -1 100
8 NTo x 3NT = -400 x 2D +1 -110 7
9 panyiic] [£3] 3NT +2 460 [£3] 3NT +2 460
10 | B [£3] 3NT -1 -100 [£3] 6S -4 -400 7
11 | XN x 4H -1 50 [ri] 4HxX 200 4
12 | @it 1t 3H -1 -100 [£3] 3NT -2 -200 3
DATUM&it iR
JEIETEIRR s [[e3 )1 r. 3+ 21 | 27
REX/MADLT XBERER/5KE ait 21 | 27
BLe/22H R/ S V.P. 7.99 | 12.01
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1 NTo 1t 3NT +4 520 1t 3NT +4 520
2 2] ¢ R 3S -1 50 [ri] 3S -2 100 2
3 panyiic] [£3] 3NT = 400 [£3] 3NT +1 430 1
4 =] R 4S = -620 [ri] 4S +2 -680 2
5 2] ¢ Jris] 3C +1 -130 [ri] INT +1 -120
6 panyiic] [£3] 4H +1 450 [£3] 3H +2 200 6
7 =] [£3] 2D +2 130 [£3] 2D +2 130
8 NTo [£3] 2NT -1 -50 1t INT -2 -100 2
9 panyiic] R 2C = -90 x INT = -90
10 | B [£3] 4S +2 680 [£3] 5S = 650 1
11 | XN 1t 5S -1 -50 1t 5S -1 -50
12 | @it 1t 3S -1 -100 1t 2S +1 140 6
DATUM%it iR
HFESPARK ~IEE r. g+ 11 9
FF/5RIE RIK/ERLT R ait 11 9
NE T e BRRA/ LT RS V.P. 10.71| 9.29
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1 NTo 1t 6H +1 1010 [£3] TNT = 1520 11
2 2] Jris] 4S +2 -480 [ri] 4S +1 -450 1
3 panyiic] 1t 4S -1 -50 1t 4S -1 -50
4 =] x 3NT = -600 [ri] 4S +1 -650 2
5 2] ¢ 1t 3NT +1 630 [£3] 3NT = 600 1
6 panyiic] 1t 3D = 110 [ri] 4S -2 200 3
7 =] [£3] 4H +1 650 [£3] 5H -1 -100 13
8 NTo 1t 2S = 110 5| 2S = 110
9 panyiic] [£3] 4S +1 450 5| 4S = 420 1
10 | B x 1S +2 -140 x 2S = -110 1
11 | XN [£3] INT = 90 [£3] INT -1 -50 4
12 | @it x 5D -3 150 [ri] INT = -90 6
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ENER BRI % | 27 |
R/ &R / ait 27 | 16
/ EERS/ =R V.P. 13.45 | 6.55
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1 NTo Jris] 3SNT +2 -460 [ri] 4S -3 150 12
2 2] x 3SNT +1 -430 [ri] 3SNT = -400 1
3 panyiic] Jris] 1S +1 -110 [ri] 2S = -110
4 =] Jris] 2S -1 100 x 3S -2 200 3
5 2] ¢ [£3] TNT = 2220 [£3] TNT = 2220
6 panyiic] 1t 4S = 420 it 4S +1 450 1
7 =] [£3] 2HXx -2 -500 [ri] 3NTX -2 500 14
8 TS 1t 4S -1 -50 it 4S -1 -50
9 panyiic] 1t INT -2 -100 it 2D -1 -50 2
10 | B 1t 2S +3 200 5| 4S +1 650 10
11 | XN [£3] 4H -2 -100 [ri] 3S -1 50 4
12 | @it Jris] 4S +1 -450 x 6S -1 50 11
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ERisiEx I HETHR Y. 5+ 58
ENEE/FBRAS XA/ B2Z L Aait 58
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1 NTo Jris] 3NT = -400 [ri] INT +2 -150 6
2 2] ¢ Jris] INT +3 -180 x 3NT = -400 6
3 panyiic] 1t 3D -1 -50 1t INT -1 -50
4 =] x 3NT -2 200 [ri] 3NT -2 200
5 2] ¢ x 2D = -90 x 2H -1 50 4
6 panyiic] [£3] 6C -50 [£3] 3NT +3 490 11
7 =] x 3NTX -4 1100 [£3] 2S +2 170 14
8 TS x 3D +1 -130 x 3NT = -400 V4
9 panyiic] 1t 3D +2 150 it 2D +1 110 1
10 | B x 6S = -1430 [ri] 6S = -1430
11 | XN x 4Hx -2 300 x INT = -90 9
12 | @it [£3] 6S = 1430 it 6S = 1430
DATUM&it L
I ERT RIEBR r. g+ 37 | 21
BUKIE/ R Wz X ait 37 | 21
TR/ LINEN/BRE = V.P. 14.7 | 5.3
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1 NTo 1t 3H = 140 it 3H +1 170 1
2 2] ¢ Jris] 3C = -110 1t 3H = 140 6
3 panyiic] [£3] 4S = 420 [£3] 4S -1 -50 10
4 =] [£3] 2Cx -2 -500 1t 3HXx -3 -800 7
5 2] ¢ 1t 3NT -1 -100 [£3] 3NT -1 -100
6 panyiic] 1t 3C = 110 [ri] INT = -90 5
7 =] 1t 2S -1 -100 1t 2S -2 -200 3
8 NTo Jris] 4S = -420 [ri] 4S = -420
9 panyiic] Jris] 3SNT +2 -660 x 4S -1 100 13
10 | B x 4HXx -2 500 x 4HXx -2 500
11 | XN 1t 3NT = 400 5| 3SNT +1 430 1
12 | @it 1t 4H +1 650 1t oH -1 -100 13
DATUM& it L
FEFORA I iRERESRA Y. 5 +] 38 | 21
R/ EREE XUPZ/ 25 Aait 38 21
ZEE/F RINER/EIR V.P. 14.93 | 5.07
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1 NTo 1t 4S +1 450 [£3] 3SNT +1 430 1
2 2] ¢ x 4Sx -2 300 [£3] 3NT = 600 7
3 panyiic] [£3] 4Sx -4 -800 1t 4S +1 450 15
4 =] x 4H = -620 x 4H -1 100 12
5 2] ¢ 1t INT -1 -100 it 2C -2 -200 3
6 panyiic] [£3] 3D = 110 x 3NT -1 100
7 =] Jris] 5Cx -1 200 [ri] 4Cx = -710 14
8 NTo x 4H -1 50 x 4H -1 50
9 panyiic] x 6D = -1370 [ri] 6D = -1370
10 | \WB [£3] 2H = 110 it INTX | +3 780 12
11 | XN [£3] 2D +1 110 [£3] 2D = 90 1
12 | @it 1t 2NT -2 -200 [£3] 2Dx -1 -200
DATUM& it iR
iFYIk22BA ZZRkPA Y. 5+ 19 | 46
F /M58 Eim/ D&% Aait 19 | 46
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1 NTo [£3] 3D = 110 [£3] 3NT = 400 7
2 2] ¢ 1t 3NTXx -2 -500 [£3] 3NT -2 -200 7
3 panyiic] [£3] 4D = 130 [£3] 3HXx -1 -100 6
4 =] [£3] 4S -2 -200 [£3] 4S -1 -100 3
5 2] ¢ x 3C +2 -150 [ri] 3SNT = -400 6
6 panyiic] Jris] 3S +1 -170 [ri] 4S = -620 10
7 =] [£3] 3S = 140 [£3] 1C -2 -200 8
8 NTo Jris] 3NT = -400 [ri] 3S = -140 6
9 panyiic] 1t 2H +1 140 5| 3H = 140
10 | B 1t 1S +1 110 [ri] INTX -1 200 3
11 | XN [£3] 4S -1 -50 [£3] 4S = 420 10
12 | @it x 3SNT +1 -430 [ri] 3SNT +1 -430
DATUM& it L
SKYPBA i~z Y. 4+ 30 36
52 3E/Z=RAEL KBELIE/ R Aait 30 36
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1 | Xk
2 | ®dt
3 | &RA
4 | B
5 | Bt
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9 | &RFA
10 | B/
11 | Xk
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HEE g 12U r: 5] 47 16
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